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Calculus

Assignment Mr Ayman Ramzy

Use the definition of the derivative to find the derivative of each function with respect to x.

Name

Date

1) y=~N3x+1 2) y=~N3x—4
2 1
3) y=—- 4) y=
x+1 x+1
5) y=5x-3 2
6) y=——7
x+5
7) y=2x+4 8) y=~N3x+3
9) y=—4x*+1 2
) ¥ 10) y=———
x+2
11) y=4x +5x+3 12) y=V-2x+5
13) y=4x" +4 2
) ¥ 14) y-
x+2
15) y=5x+4 16) y=2x" +2
17) y=+5x-5 18) y=x +1
19) y=—5x +5x+1 20) y=5x +3x+1
21) y=4x +3 22) y=Vx+4
23) y=~N-5x+3 N 1
24) y=-
2x+4
25) y=5x+1 26) y=2x+4
27) y=5x+5 28) y=3x +4x+3
29) y=-— 30) y=-

)y 2x+5 ) ¥ x+2
31) y=x —2x+2 32) y=2x+3
33) y=~4x-5 34) y=+4x+3

1 36) y=4x" — x+3
35) yo—— ) ¥ x
x+4
37) y=3x +x-5 38) y=3x +2
1 40) y=2x+5
39) y=— ) y=2x+
x+1
41) y=—4x +3x+5 12) y- 1
2x+2
43) y=2x+2 44) y— 2
2x+1
45) y=-2x+4 46) y=3x+5
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47) y=~V4x+5 1
48) y=-
2x-2
49) y=-2x -5 50) y=3x-3
51) y=—# 52) y:L
xX+5 x—1
53) y=—4x-1 2
54) y=—
) ¥ 2x—-1
55) y=3x-3 56) y=2x" +5x+3
57) y=-3x+3 58) y=-2x"+3
59) y=4x+2 60) y=~-x+3
61) y=4x+5 1
) y=4x 62) y=-—
x+3

1 64) y=2x +3x-2
63) y=— )y o

65) y=5x+1 66) y=-5x +3

Le s s s s s s s s sas s ss s sas s ss s s as s ss s s e X

y=4x —4x+5 1
d T 0x-3
B) F—ax_3
dx dy 5 dy 2x+
d d A T i Dxeo B "ie-n
o) P _sx 4 D) L o8y 4x+8 4x° —12x+9 4x" - 12.
dx dx L dy 2 dy 1
O B D) —=-——
dx 4x - 12x+9 dx 2x-3
y=~N3x-4 y=3x+1
dy _3N3x-4 dy_ 3 Y sxi6 B) ¥ _3xi9
A) B)
dx 2 dr 2+/3x-4 g
0) d__y:9X712 D) d_-V: 3 C)—:—7 D) F_3
dx 2 dx ~3x_4 dx dx
By Mr. Ayman Ramzy Page 3 *
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2 y=5x5 +2x+4
5 )
Y 0 axe7 B) ¥ 1y s
" dy 2 )d_y 2 dx dx
dx +10x+25 dx x +10x oY _10x12 D) Y sy 7
0 dy _ 2x-16 )ﬂf_ 2x—- dx dx
dx 10x+25 dx  x° +10x
y=2x"+5 P 2
+2
Y4 4 B ¥ 2y 2
dx dx )dl_ 6 )iy_ 2
oYy D) Y axi3 de X +4x+4 dx 2
dx dx ) d_f,f 20 )d_yi 2
d ? td4x+4 dx +4x
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condition.

y Do
z-—=

A-1)=0
dy

== 4x+2, 2)=-
o ax+2,50)

1

5]
—

5

) &
dx X+2

7) %/:2005 X, y(O):—

9) — = 2x+2 2)
dy 1 5
11) = ==
) = e D) A2) ;
13)i —i., ):—ﬂ
dx X 64

j |
15) Z — 2sin x, ){E) ~ 1
dx 3

dy
17) = =4x-3. #2)=2
) & ax-3,50)

dy

21) =
afx x+2

dx

31) Z’: 2 1)=2

&_ 2

33) =
dx x+2

0002000 2030 20 2 30 2 0 22 30220 30 2 2 0 23 3 3 e

. A1)=-lh3+2

dv 2
19) = =-=, (-3)=—2In3
)
. 3)=ln5-2
dy
) o= 4x HA-1)
25) Q’:—ﬁ,y{l):—ﬂnz

dv 1
27) —=—A-2)=m2-1
) L )

29) & =-2co0s X, ){E) =-1
dx 6

 d1)=2m3-1

By Mr. Ayman Ramzy
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dx x 18
dy 2 8
4 = =-— A1) ==
)of!r x y() 3
d

10);:){+ A3)=2n4-2
dy 2 5

12) = =— —3)="

) =

16) ﬂ:2x—2, A1) =1

18 Yo 2 yo)-B

x*" 12

)ﬂ
dx x+2

dyv 2
22) ===, )-3)=2In3-1
) = A3) =20

20 . 3)=-In5+3

dyv 1
24) =2 f-1)=1
) = Xy( )

dv 1
26) —=—, A-1)=—
) o= A1)

dv 1 1
28) = —— J1)=—
dx (x+2) 3
dy
30) —=2x+2, 1)=3
) =X A1)=3
dyv 1
32) —=-— 2)=—In4+1
)aix x+2° y() "

M R n i e e X

For each problem, find the particular solution of the differential equation that satisfies the initial
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39) &
dx

dy 3
a1) T =-= J1)=2
)~ X}{)
dy 2
43) L2 y1)=-
)~ Xy()

47) &
dx

dy 1
R e

s5y L3
dx x+3

100) g_g
dx

e‘J

102) ¥ oy
dx

o4y F_X
o

106) ¥ -
2+ X
}/2

1

sin y

108) &_

110) y__

12 X
dx y°

ey &2
dx &

0002000 2030 20 2 30 2 0 22 30220 30 2 2 0 23 3 3 e

—4x+1, f1)=1

dy .
45) — =3 , A0)=—
) smxy()
= —4x+2, f-1)=-

dy
49) —=4x-2, ®l)=-
) X A1)

dy
53) Z —dx+2, #-2)=2
) o4 #-2)

A2)=3m5-2
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40)

42)

44)

46)

48)

50)

52)

54)

56)

Find the general solution of each differential equation.

101) y_

d
—'y:—s'm X, y(2—n) = L
dx 3 2

dy 1
—=— }1)=-3
: y()

dy 6
dx (x— 2) y(S) 5

@ __ 3 __
d’f_(x+2)23y(l)_ g

%:—2“1 A1)=3

dy

v 2)=-3In3+2
dax x+1  A2)=-3n
dv

v __ 2)=—In3+1
- )=l

%4“;():
;4;:1;():

1

2
sec” y

dy x

103) ===
dx
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For each problem, find the particular solution of the differential equation that satisfies the initial
condition.

d 3é
115) _y:i” }/(0):1 116) d_}f' 26 _2): 3¢’ + be
dx y dx

e

dy .y x :
117) = =267, 5(0)=In 3 18) Z- € )3 + 1
dx dx s

! . A=2)=0 120) ﬂ:2xy{y(1):

2
sec” y

dy ) 1
121) - ox?, f3)=—— a_x
) o =2x . A-3) o 120) & }(3)

119) &_

3
123) ﬂ':_ﬁ,e"‘*" Yo3) o 2EF3 124) E:X\G’ y(O):
3
K d
125) & 2’9, )= Y28 126) Z =25y, y(-1)=
dx y dx

137) %’:3xﬁ,y(3):—i 138) %:3;{}2,}(1):——

139) = =

141) g:?, W2)= 15 142) @:e"‘{ H-2)=1n 2€f1

d x N
143) E’Z:sx\/}, o) =1 gy T o) 3¢ +3e

dy  x dy 2x

145) = =—, )(-2)=2 146) === {0)=
dx d &

147) %’:?, W2)=~14 148) f—j’;ﬂe’_"; A-2)=In 26;;2

g:e’[—’v }(—3):lne+1 ﬂ:¥3 3):ﬂ

149 150
) e ; > ) 2

151) P o3e, 2)=m 253 152) Q’ZE 2)=26
dx e dx

In 3
2

2 dx 12

dv x 20 dy
153) <L -2 (1)= 154 ~2x 3)=-—
) };,y() ) v, A

By Mr. Ayman Ramzy Page 7 *
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dy 25
159) v 1) ==
) =X v, {-1) .

dy 2x In 4
161) —=— A-1)=——
) L2 =

163) D2 1) = Jser2
dx y
165) %’:23”’, #2)=In (2 +3)

dy ) 1
167) —=2 —2)=——
) — x7, A-2) :

dy 1
169) —= , M2)=0
) L1 0)

sec” ¥

ij )(—1):111 2e+1

dr_2¢" V3¢ +6
vy

173) =
dx

171) _ -
dx

3
175) & 226, 3) =i 2
d_}/ o 2
183) & - 3)=- =
) =0 ) =
185) L2 )= s
dx y°
d_}/ o 2
187) & - 0)=-=
) x77, #0) 5
dy ) 2
189) F 352, y(3)=-—
) =3 ) >
191) ﬂ’:zx\/y, Ho)=1
dx
193) Q:ﬁ, 0) =~
dx ¥
& J2& 138

195) L2 5(1)=
dx ¥

1907y Y 2% ) Y15
dx -

3

dyv x 116

199) =—=—, U-3)=——
) %= 7 A=3)=—

c

By Mr. Ayman Ramzy

dv 2x ) :ﬁ

160) — =",

dx e"’v 2
162) & _ 1,’ . 3)=0

sec” ¥
3

d 20
164) L= 1)=

dx y 2

dy -y e+3
166) — =3¢ 7, -1)=1

) Loz )=
168 - X o)-3

dx  y
170) 9:33‘2 A1)=In (3e+2)

dx
172 B2 o)

dx ¥

X

174y Yo X Y )13
dx y

7 y(l) =In(e+ 1)

180) & _0e7 (1) =1n 25H2
dx e

176) b _ -
dx

dx  y
190) %:‘i,y(l): Joe+ 1
192) L€ yo)=a

dx

dy ) 2
194) ¥ _3 7)==

) xy”, A2) =

d_y 2 1
196) & - )=~

) o= H2) =3
198) Y2 1)=Prex2

Y

dy 3¢ V& 198
200) = =" ¥-1)=

dx y e
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Calculus

1) Ax)=(4x* +5)

Assignment Mr.Ayman Ramzy

Differentiate each function with respect to x.

Name

Date

2) y=02x+5)"
4) y=(-5x-1)"

6) Ax)=(5x+3)
8) y:m

10) Ax)=~3x +4
12) y=(x+2)"

14) Ax)=(-x-4)"
16) Ax) =+ +5)*
18) Ax)=(

3xt+ )

3) y= (zx 5)° 2)
5) Ax)=(R2x+5+1)
7) Ax)=V~2+5-5
9) Ax)=(x+4)
11) Ax)=03x +5)
13) Alx)= \/4X +3)°—4
15) y=((4x+57-3)"
17) y= (;P+2 )

4 . d
92) y=x Fmd;’f

94y Ax)=-~/x Find £

96) y=5x° Find

98) y=5x Find %’

1
5 d*
100) y=3x° Pmd;f

102) flx)= 2\¥  Find £
104) Ax)=-5x Find £
106) Ax)=—4x> Find £

108) y=4x Find%

93) y=—x Find%

2 . (1’4_}"
93) y=x Fmdg

97) f(x) —_x° Find f(j'}
> L dly
99) y=3x" Find e

4
101) Ax)=3x Find £

103) flx)= V¥ Find £

105) Ax)=4% Find £
1

i L. d
107) _V:Xjr Pmdgf

109) Ax)=x Find £

3902636 20 30 26 30 30 503 30 30 36 30 30 502030 30 630 30 30220 3030 30 3020 30230 3
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168) & =5x° +2
170) 4x=y° + 4
172) ¥ +3=In y/

dx

169) ¥ +1=¢"
171) 3x% +4=¢7

173) 4x” + 1 =tan 5"
-4-

$$$$$$$$$$$$$$$$$$$$$$$$$I

For each problem, use implicit differentiation to find a; in terms of xand y.

174) &7 =4x° +4
176) ¢ =3x° +4
178) tan2y° = x+ 1
180) 3x +2=In 5y
182) 2x +3=cos 4y
184) 3" +3=4x
186) 4x+3=c"
188) —4y° +5=3x
190) tan2y” =4 x+4
192) 2x° =337 +5
194) 5% +5=1n 4y
196) cot 2y’ = x* +1
198) 4x* +2=csc y°
200) 4x =—4y° +5
202) 5x* —5y° =2
204) tan2y’ =4x+3
206) X¥* =3y +5
208) 2% +4=¢"
210) 3x +55° =5
212) n 57 =5x+4
214) 2x+4=c"
216) 3x =4y +4
218) X’ +4)7 =2

175) csc * =3x° +2
177) 2y +5=x
179) In y° =4x" +2
181) 57 +3=3x
183) 57 +1=13x
185) In2y° =5x+4
187) 2x* =3y +1

189) 4x” + 1 =sec4y’
191) 5x° + 1 =csc 5y
193) In ¥ =3x +1
195) cos2y* =x + 1
197) 2x=-4y’ +5
199) & =5x+ 4
201) 5x*+3=sin2y’
203) 3x’ =—4y° +2
205) 2x° +5=sin y’
207) 5x° +2=In2y
209) 2x° +5=tan2y’
211) ¢ =45 +2
213) 3x* +5=tan2y’
215) 2x+5=In y°
217) 2/ +5=2x%"
219) 2y +3=4x

000200 2030 20 2 30 2 0 220 3220 30 2 2 2 3 3 e

By Mr. Ayman Ramzy

I X

Page 10

X gasess s sss s sssssssssssss s s s s s s sgyX



b oo e o e R e e e e e e e e e X

x

By Mr. Ayman Ramzy

HHHFSHHFSH SIS SRS H 51

x

i Calculus Name i
i Assignment Mr.Ayman Ramzy Date i
* Use logarithmic differentiation to differentiate each function with respect to j’.*
§ 1) y=2x" 2) y=4x"" i
* 3) y=3x" 4) y=5x" *
x y=3x" 6) _y:3X4” .
* 7) y=2x" 8) y=x" *
® 9) y=3x" 10) y=5x" > 3
¥ 1) y=55" 12) y=2x" »
i 13) _y:4xj 14) y= x*"‘ i
* 15) y=x" 16) _y_SX *
= 17) y=2x" 18) y:3xj’f =
x 19 y=2x" 20) y=x" =
o o 2) y-r" ®
i 23) y=x" 24) yzsfj i

25) y=5x" 26) y=3x"

> 3 . 2 »
x x
§ 27) yzzf’: 28) yzzx’i z
* 29) }/:3,!:13 30) }/:4;;"5 *
* 31) y:4x31 32) yZSXng *
x 33 y:zn:4 34) y:4;f »n
x 39 y:ZXj 36) y=x" > 3
B 37) y=4x" 38) y=5x" > 3
x x
x x
x x
* *x
*x *x
*x *x
i x
x

Page 11 *
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Differentiate each function with respect to x

40) y= 613

42) y=In 4x°

44) y=*(ax° —3)
46) y=In 5x°

48) y=(3x" +5)ln 3x°
50) y=In x*

52) y= exj(f +1)

54) y=In5x - (£ +1)
56) y= &

58) y=In 2x°

60) y=c* (35 +2)
62) y=In3x* (¥’ +2)
64) y=In2x’

66) y= &

68) y=1In3x’

70) y=In 4x°

72) y=(¥ -3)- &
74) y=In 4x*

76) y=In5x

78) y=In5x*-(5x° +2)
80) y=c (55" —2)
82) y=e& (25 +1)
84) y= &t S

86) y= c”( X +5 )

88) y=c (254 +1)
90) y=(3x" —5)n 3%’
92) y=(x +2)ln 4x*
94) }/:614

96) y=(2x +3)ln x°
98) y=(3x +5)- &

100) y=In3x-(3x° —4)

41) y= 6413

43) y:ef

45) y=c (4x* +5)

47) y=In3x"

49) y=ln4x -(3x° +4)
51) y=0(x*-2)ln 4%°
53) y=(x¥’ -2)ln 5%

4

55) y=(x"+ 5) - &

57) y=(x*+3). &~
59) y= S
61) y= S

63) y=c*(5x* +4)
65) y=In3x -(2x* +3)
67) y= &
69) y=ln5x -(4x° +3)
1) y=e" (3x* +4)
73) y=&" (55 + 1)
75) y= 65”2(35+2)
77y y=0x*+5). &
79) y=(2x +1)ln 2%
81) y=ln x°

25

83) y=0x"+5) ¢
85) y=02x"+1)h2x

87) y=c" (38 - 1)
89) y=In x - (2x* +35)

4

91) y=(x>+3)- ¢
93) y=ln4x -(5x" +4)
95) y=lm2x -(2x* +3)
97) y=* (252 +3)

99) y:esf
101) y=ln 5% - (x* +3)

00200 200 2 0 22 0 220 2030 2 2 0 220 320 2 2 3
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X
§$$$
3 1 :
10
3 ) {}
: 112 - :
: | 3111;9*}
3 | y:X |
£ 3 14) ej_s $
» y |
: 116 :X4_ |
* l)y eAS |
: 18) : 3 |
6315
* yzf |
* 12 _6315+ |
» 0) 3 {}
: 122 i |
i 12”35 ﬁ”a}
* 14) e m |
*» 26)y 1 y_{}
* 12 | 63 13) 641 $>
: \ _5;{3 y $
11 ) $
*» ly_ +4 5) Xz
* 30) eX - ; ¥
> 1 117 e;31 |
x o - )y_ i
* 34) :5}; “9 _ln *
*» | 1 ) 54
* 3)6)}/1]1143 | y= ""4”‘2 =
* 1 yn?)xs - exfl »
* : 3111;5 . }’f > 3
* 1 y= X4X2 23 _ ln 2 *
* 40) - 62;2 1 )y 4352XL *
X 2 _
* m) : 29 5 o ks
§ - yzelll ;41 )}/: eixfx 3 *
! 1)y 13 - - ;
$ 46) =1In 1) | X4 *
$ y= X 13 | _64X3 *
{} M 133” ;B »
$ : x
‘$’ 137 ysx;ﬁ *
$ ) ¥ : + *
| 139 4;}{52
X ) l *
v n+
X 14 15; *_
| " o *
$ 14 263+ *
2 3) ;1 *
$ 145 ) +5 *
$ )y 4;4x4 i
. 147 :3X5+
$ ) ¥ l +1 *
g *
<*%>ln+ *
$2X5 *
X i
{} »
§ »
N »
{}*
X
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x

180) y=3"

182) y=log, 4%
184) y=1log, 2x°
186) y=52*
188) y=5"
190) y=4°F
192) y=3*
194) y:10g5333
196) y=5*
198) y:10g52,¥4
200) y=2*
202) y=2**
204) y=log, 5x
206) y=log, 3x°
208) y:10g45xs
210) y:10g35,¥5
212) y=5%

181) y=3""

183) y=log, 2x
185) y=log, 3x
187) y=log, 5x
189) y=2°*
191) y=42%
193) y=4>*
195) y:log45x4
197) y=3°*
199) y=3"
201) y=log, 5x
203) y=2""
205) y=log, 4x°
207) y=log 3x
209) y=4"
211) y=4°%
213) y=log, 2x

$$$$$$$$$$$$$$$$$$$$$$$$$I
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271) y=(x' —2)sin4x’
272) y=(4x + 5)tan 4x*
273) y=csc x° - (-3x% + 4)
274) y=tan2x

275) y=csc2x - (X + 5)
276) y=(4x> +5)cos 5x°
277) y=sec2x* (-4x - 3)
278) y=sin5x"

280) y=sin5x - (4x° + 1)
281) y=(5x +3)cot3x°
282) y=(3% +4)cos2x
283) y=sin4x’

285) y=(2x*+ 1)cot 4%
286) y=(-x"+ 2)cos x°
287) y=(x + 5)ese 5x°
288) y=cot4x’

289) y:(XS-I—S)cot,f1
290) y=-csc 2}:

292) y=sec x" - (- X +3)
293) y=tan4x’

331) y=cos3x

333) y=sin4x

334) y= (£ +2)cos 2x*
335) y= (4% + 1)esc x*
336) y=cos5x

337) y= (x* +4)cos 2 x*
338) y=sin x°

339) y=cot2x - (5x° +4)
340) y=csc2x’

342) y=(3x +4)sin x*
343) y=sec3x

344) y=(x +3)sin 2%
345) y=(x +4)cos2x°
346) y=cos x'

348) y=tan x - (35> - 2)

302) y=cot2x’

303) y=(x +3)sin5x"
304) y=(5%" + 1)tan 4x"
305) y=cot5x"

306) y=(5x —2)tan 2x°
307) y=sin4x’

308) y=cotdx - (-x° +4)
309) y=tan x"

310) y=sin4x -(2X +5)
311) y=tan3x’

312) y=(5% +3)in5x
313) y=cot4x* - (x* +4)
314) y=cot5x' -(3x° +4)
315) y:c0t4x4-(.3:5—4)
316) y=cot5x"

317) y=(2x* —5)sec 3%
318) y=tan3x - (¥’ +1)
319) y=cos4x

332) y=sec2x’

341) y=sec x

347) y=csc4x

By Mr. Ayman Ramzy
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77) | 6csc* 2 x- 457 gy

|
f

79)

81) |10cos2x-3%" ™ dx

101)

103)

107)

4x | -
109) [e™. —4¢° 77 dx

Jé
[.
105) [ _156° 2 dx
2
J¢

111) [(5;13 +3)° 155 dx

By Mr. Ayman Ramzy

Ssec 4xtan 4x - 471! dy

78) [—2sec2 —x- 5T dx

,
3csc” —3x

80) dx

cot—3x

8csc? —4x
cot—4x

82) dx

84) [—2sin —2x- & 7 dx

|
|
|
|
|
f
f

(4x*+5)" 16X dx
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117) [(3;9—4)3-953‘:1:: 118) [(4f+1)5-8xdx
119) |10x(5x —2)" dx 120) [(x°+3)° - 5x* dx
121) (5x%(x° —5)" dx 122) [16x(4x* +3)° dx
123) [9x°(3x +4)° dx 124) [2x(x* +4)° dx
125) [5x*(x° —3)° dx 126) [4x(2x* —3)* dx

127) [(5x£—1)* 10xdx 128) [5x*(x° +4) dx

129) [8x(4x —5)° dx 130) [10x*(2%’ + 1) dx

131 [(2x* +3)" 6% dx 132) [20x°(5x* +2)° dx

133) [(5x° - 1) -25x" dx 134) [(2x*-5)" 8% dx

471) [-12¢"sec (eh - S)tan (e?’X - 3) dx 472) [20¢"cse (e“ - 2)cot (641 - 2) dx

473) _9¢%ese (e?’x - 3)cot (e?’x — 3) dx 474) 66" csc? (eh + 3) dx

475) [2&%in (& + 5) dx 476) | -25¢sec (& + 3)tan (% + 3) dx

483) —20&sin (esx - 1) dx 484) [5é’csce (ex - 3)cot (ex - 3) dx

485) | -8 csc (- S)Cot (& - 5) dx 486) | -15¢%sin (- 2) dx

487) 15¢ esc (é‘h + 2)00t (63)[ + 2) dx 488) —4&%sec (eh - l)tan (eh - 1) dx

489) 206" sec (641 + S)tan (641 + 5) dx 490) 156 sec (651 — 2)tan (GSX - 2) dx

491) |-12&"sec (e + 1)tan (¢ + 1) dx 492) |12 sec? (™ + 5) dx

Le s s s s s ss s sas s ss s sas s ss s s as s s s s e X
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i 197) f(SX 1) -20x dx 198) flﬁr(sf +2) dx i
i 199) [2)(():‘ 5)° 200) [12X3(3X4+5)5d!r i
% 201) [—2860 x dx 202) fmj Xd!: %
i 203)[ cscx 204) f —5cos x dx §
i 205) [ Scse xcot x dx 206) [csixdx §
i 207) f3SEC xtan x dx 208) f —3cos x dx §
i 209)[ . X 210) [ —2sec xtan x dx §
e w[ie %
i 213) f4sec xtan x dx 214)[ seixdl{ §
* x
i 277)[ St X 278) f2csc xcot x dx i
i 279) f— ¢ xcot x dx 280) f——X z
3 281) [5 ¢ xcot x dx 282) [—4 n x .3
* 4sin x ®
i 283) [ 284) [coszxdx z
i 285)[ > 286) [—Si dx z
i 287) f 288) [3cosxd¥ i
i 289) [ > 290) [ —csce? x dx z
i 291) [ 10x*csc (2x° +3)cot (2x° +3) dx 292) [?SX in(5x° —4) dx i
R %HHHHHHHHHHHHHHHHHHHH}%I
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x

299) [—20xcsc? (5x° +3) dx

50xsin (55 — 4) dx
12x°sin (3x" — 4) dx

9x’csc (x° + 2)cot (£ + 2) dx

100x°sec? (5x* — 2) dx

~80 x°csc> (5)14 - 1) dx

—40 x*sec? (4x° — 1) dx

9x’csc’ (3):3 + 5) dx

20xsec (2% — S)tan (2x7 - 5) dx
36x°cse (4x° — 5)cot (4x° — 5) dx
—27xcos (3x° +4) dx

—16 xcsc (2){2 - 3)001: (2X2 - 3) dx

f
f
f
/
529) [80,0ese 4"+ 3ot (4 + 3)
f
f
f
f

~5x*sec’ (XS - 5) dx

By Mr. Ayman Ramzy

302)

304)

306)

308)

310)

312)

314)

316)

322)

324)

326)

328)

330)

332)

334)

336)

338)

24xsin (3x% — 5) dx
~10xcos (X + 1) dx
45x%cse? (3x° +5) dx
9x’cos (3% —2) dx
30xsec’ (5x% - 3) dx

~16xsin (2% - 3) dx

—18x'sec’ 3x° — 5) dx

10xesc? (557 + 2) dx
24 xcsc (3){2 - 2)cot (3X2 - 2) dx
—24xsin (2x° — 5) dx
—32x’¢csc (2):4 - l)cot (2):4 - 1) dx
—27x*csc? (3X3 + 4) dx
—20xsec (5x7 + tan (557 + 1) dx
8x’sin (2x* — 5) dx
16xcos (2x* — 1) dx

30x"cos (3){3 - 5) dx

80x csc (4)(4 - 5)c0t (4;{4 - 5) dx
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379) [—24X‘csc (4x° +3)cot (4x° +3) dx 380) [24){3050 (3x* + 1)cot 3x* +1) dx

cos (=1 +1n SX) dsin (-5 + In SX)

dx

dx 382)

X
4sec’ (1 +1n -5
sec( n X)af!r

X
4sin (5 +1n 4
B sin ( n X)d’r

X

3cse (2 +In —4X)c0t (2 +In —4X) dx

X

3sec” (5 +1n SX) dx

X

f f
f f
e |
f csc? (1+]11—3X)dx 388) fScsc(—lJrln —4x)cot(~1 +1n 4x)dx
f f
f f
f f
/ /

X

4 —1+In2
cos ( n X)dx

_csc (2 +1n —X)cot (2+1n —X)

X

dx

2sec (-1 +1n 3X)tan (-1 +1n 3X)

2sec (4 +1n 2X)tan (4 +1n 2X) _ dx

dx 394)

X X

5sec’ (-1 +1n 2
sec( nX)dx

X

2 —5+1n - t(-5+In-
cse (=5 +1In —x)cot (=5 +1n X)dx

2sec (—2 +In 2X)tan (—2 +1n 2X) dx 4esc? (—1 +1n —2X) dx

[ 398) [
x X
399) ISCSC‘ (=4 +1n —4X) dx 400) [SCSC (=5 +1n Sx)cot (=5 +1n SX) dx
b'e X
401) [505(: (4 +1n —X) dx 102) [5(:05 (—2+]11—3X) dx
b'e X
403) [sm (-5 +1n —2x) e 104) [5005 (-3+1In —5x) i
X X
405) f 2sec (4 + In 3X)tan (4 + In 3X) dx 106) [ 4sin (5 +1n —2):) dx
X X
407) [ 5cse’ (1 +In X) dx 108) [2csc (-=2+In X) dx
X X
409) [ 2sec(—4 +In x)tan (4 +1n x) g 410) [ 4esc? (5+1n 4x) g
X X
411) [ 3cse? (=5 +1n 3X) dx 112) [4sec (2 +1In —4X)tan (2 +1In —4X) dx
X X
413) f 4dsec (—3 +In 2X)tan (—3 +1n 2X) dx 114) [SCSC‘ (—2 +In —2}:) dx
X X
By Mr. Ayman Ramzy Page 22
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Calculus Integration by Parts

* Assignment Mr.Ayman Ramzy

[ln xdx, u=Iln x, dv=dx

[a—y
Mo

3) |xln x> dx; u=In X%, dv=xdx

5 |[x-27dx; u=x, dv=2""dx

7) \/;ln xdx, u=n x, dV:\/;OfX

/
f
/
/

9) [xIn xdx; u=In x, dv=xdx

xsin xdx; u=x, dv=sin x dx

[a—y
—_
Mo

XIn xdx, u=In x, dv=x" dx

—
(O8]
e

—_
LN
S

In xdx; u=1n x, dv=dx

—_
-1
e

log, xdx, u=log, x, dv=dx

J—
O
~—

—X —X
xe dx;, u=x, dv=e dx

]
2
e

x-2dx; u=x, dv=2"dx

]
n
—

xcos xdx, u=x, dv=cos x dx

Ko
~1
—

it
=3
e
=
|
=3
et
S
|
Pt

o
o
—

xe "dx, u=x, dv=¢ dx

By Mr. Ayman Ramzy
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\/;ln xdx, u=In x, dVZ\FXdX

Name

Date Period

Evaluate each indefinite integral using integration by parts. & and dv are provided.

2) fxexala”, u=x, dv=¢" dx

x-27dx, u=x, dv=2"dx

In x

6)[.’1’6 dx, u=x, dv=e " dx

8) |—dx; u=In x, a’v——dx

X X

10) [hl dx; In x, & ! dx
— u=ln x, dv=—r
Vx Vx

12) fxcos xdx, u=x, dv=cos xdx

B

14) [log2 xdx, u=log, x, dv=dx

16) | Xln xdx; u=In x, dv=x" dx

18) | xsin x dx; u=x, dv=sin x dx

20) | xe" dx; u=x, dv=¢" dx

In
——=dx, u=I x, dv=%/—dx

X X

-

24)

xln ¥ dx, u=In x°, dv=xdx

]n—.rdx”, u=In x, dvzi.rdx
x X

b

f
f
f
|
f
f
f

\/;]11 xdx, u=In x, a'v=\/;d¥
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1 In
35) f“"‘dx; u=1In x, dv=—— dx 36) [—Xair u=ln x. dv=—- dx
Vx Vx X s
37) lenX‘dY u=In xX*, dv=xdx 38) [log, xdx; u=log, x, dv=dx
39) fln xdx, u=In x, dv=dx 40) | xe" dx, u=x, dv=¢€" dx
41) fxln xdx, u=ln x, dv=xdx 42) |x-27dx; u=x, dv=2"dx
1 In
43) fEdr u=In x, dv=—— dx 19) |25 e u=In x dv=-2 dx
X \/; X X

xln x> dx; u=In x°, dv=xdx 46) | xIn xdx; u=In x, dv=xdx

xsin xdx; u=x, dv=sin x dx 48)

xcos xdx; u=x, dv=cos xdx

log, xdx; u=log, x, dv=dx

49) fx-z"d:g u=x, dv=2"dx 50)

In xdx, u=In x, dv=dx \/;]11 xdx; u=n x, dV:'\/;dX

th
)
—

xe' dx, u=x, dv=¢&" dx 54) 2%dx; u=x, dv=2"dx

e

&

Xln xdx, u=In x, dv=x dx 56)

a
bt
=
I
]
S

E
B

xln x* dx, u=In X, dv=xdx 58) dx, u=In x, dvledx

X

-

59) | xcos xdx; u=x, dv=cos xdx 60) \/;ln xdx, u=In x, dv=\/;dx

xe dx, u=x, dv=¢" dx

x- 2 dx; u=x, dv=2"dx 64) | xsin xdx; u=x, dv=sin x dx

|
—n,,Xoix: u=In x, a’V:—l,, dx 66)
X X

E
b
&
=
Il
E
-
S5

= dx

xe "dx, u=x, dv=¢ " dx 68) | x-27"dx, u=x, dv=2""dx

69) |log, xdx; u=log, x, dv=dx 70) | ¥*ln xdx; v=In x, dv=x" dx

f
f
f
f
f
f
f
f

By Mr. Ayman Ramzy Page 24
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M R n i e X

75) fl“TXdr n=In x, dVZ%dx
X X

\/;ln xdx; u=In x, dv=\/;dx

-]
~J
—

~]
o
~—

x27dx, u=x, dv=2""dx

o0
ot
—

log, xdx; u=log, x, dv=dx

Xln xdx, u=Iln x, dv=x" dx

o0
|8
o

e o]
9]
—

xsin x dx; u=x, dv=sin x dx

e0]
|
—

—X —X
xe dx, u=x, dv=e dx

\/;ln xdx; u=In x, dv=\/;dx

O
—_—
S

x-2%dx, u=x, dv=2"dx

log, xdx; u=log, x, dv=dx

=3
B

dx; u=ln x dv=%dx

X

=3

e
&
~
I

|~

0
=
=3
Na

¥
3

X

X&' dx, u=x, dv=¢e" dx

O
o
—

O
Ns
-

X 2%dx, u=x, dv=2"dx

—
=
—

—

7. 2 .
xsinxdx, u=x, dv=sin x dx

—
=
('8 )
s

X 2%dx. u=x, dv=2"dx

— gl —
xe dx, u=x, dvi=e*dx

._.
o
3

po—

109) x’sin x dx; u=X2, dv=sin x dx

=
Ned

By Mr. Ayman Ramzy
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76) fx]n xdx, u=Iln x, dv=xdx

78) [ xcos x dx; u=x, dv=cos xdx

30) [P X gy u=ln x dv=—- dx
X x
In

82) | x X dx; u=In X, dv=xdx

86) |In xdx; u=In x, dv=dx
88) | x-2 7dx, u=x, dv=2"" dx
Xln xdx, u=In x, dv=x" dx

90)

92) | xe" dx; u=x, dv=¢"dx

|
f
|
f
f
|
/

94) fx]n xdx, u=In x, dv=xdx

96) fxcos xdx; u=x, dv=cos xdx
98) fx]n ¥ dx, u=In x¥°, dv=xdx
100) [ x’e *dx. u=x", dv=¢ " dx
102) Xcos xdx, u= Xz, dv=cos x dx
104) xXcos x dx, u= Xz, dv=cos x dx
106) | x’sin x dx; H:Xz, dv=sin x dx
108) | x’e" dx; u=x', dv=¢"dx

110) | ¥ -2"dx, u=x, dv=2"dx

Page 25
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Answers to Assignment Mr.Ayman Ramzy (ID: 4)

) xlnx—x+C 2) x¢ — &+ C 3 Xl -x
2

x. 27 ¥ X 1 —x—-1

+C 5) - - ;tC 6

In2  (jn2) 2In2  2%-(In2) &'

3 3 “In x—1 2x°In x— ¥
- ) x-1, . ) n x

M i x 4

+C

+C

+C

11) —xcos x+sin x+ C 12) xsin x+ cos x+ C

xXln 15) xIn x—x+ C
Xf§+6 14) Xlogzx—ﬁJrC ) xln x—x
n

- in x+
HESP 17) xlog, x— X e 18) —xcos x+sin x+ C
9 ‘ In2
—x—1 Fg 2x'In x— x°
X 20) x¢ — & +C 21) n x
e 4
x 1 x-27 27
22) - - -+ C 23 - +C 2 a2
2*In2 2% (ln2)? ) 2 (In 2)° 20 2x I x—dx + C

+C

1 1

25) xsin x+cos x+ C Yhx¥-x 3 3

—lnx—1+c 29) -x—1 3 2

x e 30)

28)

3 9
LoF ¥ flnx x 33) xsin x+cos x+ C
31y X2 2 _ic 32) - .
In 2 (In 2)° 3 9
34) —xcos x+sin x+ C i_ % ~In x-1
35 2xInx-4x +C

£l x’ - x° 39) xIn x— x+C
5 +C  38) Xlogzx—iJrC ) xln x—x
n

x_ X 25In x— ¥ 1
40) xe' -+ C 4 2RI ooy X e
2"In2  2"-(ln2)°

1 1 ~In x-1 Xnx¥-x
13) 25°In x 4x° + C M) ——+¢ 1)

2% In X—X2+C 47) —xcos x+sin x+ C 48) xsin x+ cos x+ C

37)

+C

46)

1 51) xln x— x+ C
49) —> +C  50) Xlogjxf£+c ) xln x—x
- n

22 2% (ln2)’
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M R n i e e X

Find by suitable Substitution

557) [15¢7sin (¢ - 4) dx 558) f—zoes"sec(es"—ﬂ ("= 1) dx

559) 156 sec c —ltan e —l)dx 560) 66 sec e —4)tan e —4)0!1(

8cos 4xcos sin 4X
9sec? —3xtan tan 3X

561) 562)

sin sm4x
3sec —3 xtan 3X

563) |—3cos 3 xsec (sin 3x) dx 564)

sec sec -3 X

35111 -X

565) 566)

SlIl Slﬂ—4X COS COS X

567) 568)

cos COt5X sin? tanX

569) 10sin 2 xcot (cos 2x) dx 570) [20sec 5xtan 5xsec’ (sec 3 x) dx

4cos —x

571) 572) [ 4csc® —xsin (cot —x)

SIH SIIl X

sec’ x 15¢csc?

f

- f

f -

- A

[ 20cos —4x f

[ 20csc” 5 xsin cot5x f4sec xcos (tan x)
- f

- f

= A

573) 574)

sec CcOS cot 5X

Le s s s s s s s e s as s ss s sas s ss s s as s ss s s e s X
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M R n i e e X

Express each definite integral in terms of #, but do not evaluate.

0
651)f : 0x )Bdru X +2
L (£ +2

0
653) SX(2X‘ +1)P dx, u=2x +1

655) f
0
657) f
0

1
659) IQX(XE—I)EGE&: u=x -1

.I}..

da; u=2x" +1

;14

8 )
661)[— S dx u=2x4+2
s (X +2)

0
663)f ~18x3x% - 2) dx, u=3x -2
-1

By Mr. Ayman Ramzy
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5
d

° 12x
652) f de. u=32+1
(32 + 1)

654) —4x(r 2 dx, u=x*-2

656)[36 Tdx, u=4x -2
0

(2x - 1) dx u=2x -

[am—

J%J:._n
5
#
X gasess s sss s ssssss s s s s ss s s s sss s ssssyX

o)
o0
o)

L —
|"'“‘—-=
— =]
N
e
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1 1
dx
727) [4x(2r—3) dx, u=2x" -3 728) f dx, u=2x"+1
> L, 22 +1)
1 3
729) | —24x(4x — 1)’ dx, u=4x — 1 ?30)[ Sdx u=x"+3
0
731) f—12x(2x3—2)3d:r, u=2x" -2 732) [—au(r 5V dy, u=x"-5
-1
° 4x
733) f— ————dx, u=2x +2 ?34)[ ~dx; u=3x +2
L, 22 +2) 3x+2)°
2 o , 12x
735) [—m(,r—z) dx, u=x -2 736) f —dx, u=2x"+4
0 (2x° +4)
1 6x 0
73?)[ ———dx; u=3x +1 738)[ —dx, u=2x +1
s 3x2+1) L 2 +1)
1
739) f6x2(x:’—2)5dx: u=x -2 740) f ~dx, u=2x"+4
0 1 2r+4

With My best wishes
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